Задание(05.12.20): тема «Гидроэлектростанции»перевести текст, выписать незнакомые слова, выучить, письменно выполнить упр.1,2,3
(выполненное задание отправить на эл.почтуegamova.s.t@mail.ru или в личных сообщениях в вк)
Unit Thirty-Two [32]
1. a) Cover the right column and read the English words. Translate them into Russian and check your translation.
b) Cover the left column and translate the Russian words back into English.
	blade
	
	лопасть

	level
	
	уровень

	magnitude
	[ˈmæɡnɪtjuːd]
	величина

	head
	[hed]
	(зд.) верх, верхушка

	plant
	[plɑːnt]
	станция, завод

	runner
	
	ротор

	shaft
	[ʃɑːft]
	привод, вал

	torotate
	[rouˈteɪt]
	вращать(ся)

	to influence
	
	влиять

	to fluctuate
	[ˈflʌktʃueɪt]
	колебаться



2. Put down the Russian equivalents of these word combinations. Then translate them back into English (orally).
	runner blade
	______________________________

	turbine runner
	______________________________

	turbine shaft
	______________________________

	water level
	______________________________

	water head
	______________________________

	large capacity power plant
	______________________________

	magnitude of the water head 
	______________________________

	daily inflow of water
	______________________________

	turbine runner shaft
	______________________________


Hydroelectric Power Plants
Hydroelectric power plants are built on rivers. Large-capacity hydroelectric power plants are commonly located at considerable distances from the consumers of electric power.
The production process at these plants is rather simple: the water flows into the hydroturbine runner, acts upon the runner blades and rotates the runner and the turbine shaft.
The generator shaft is connected to the turbine runner shaft. The difference in the water level influences the power capacity of a plant, i.e. the magnitude of the water head and the daily inflow of water fluctuates considerably according to the season.
The production process is different at power plants of different constructions and of different kinds. In atomic power plants, for example, it is not so simple as in hydroelectric plants.

3. Complete the sentences using the correct variant:
	1. Hydroelectric power plants are built	
	a) on rivers.
b) on waterfalls.

	2. Large-capacity power plants are located
	a) at a short distance from consumers of power. 
b) at a considerable distance from consumers of power.

	3. The production	

	a) is very complex. process at the plants
b) is rather simple.

	4. The power capacity of a plant 
	a) remains constant.
b) changes considerably.
c) is influenced by the difference in the water level.

	5. The daily inflow of water
	a) fluctuates according to the consumption.
b) fluctuates according to the season.

	6. The production process
	a) depends upon the construction of the plant.
b) is the same at power plants of different constructions.



